(0.1x[ )« (0.06x [ )

0.1:0.06

@ 100 ® 10 @0

@® 1000



LA o

S}
=

A, 7150 A2 5 o=t

o

@ ar=0+3

@ o=Ax2

o+2

A

®o=a+1

@® o=Ax%x3



© &= |x2 @ [J=a+2 ® [ J=ax2
@&:D+2 @D:4+2



4.

o 17 oA y7b xol Auleshs A B 18 AL
AU
7]
@ 180] 10kcal®] dFo] AR E of, x B 5o AREE

G ykcal U T},
© 17470l 5009 sk A8 22472k 170] 2009 Sh=
29 x 705 AL A ESfjof sk g2 y ol
© Hol7t 7em? )1 AZFE &) B 2] Zo)7} xem &
Eol= yem YH .

b}

©® FA7E500g Q! TR & xg= B W, WA FA=

ye 4yt

© 0,0 ©® 0.0 ® 0,
® ©, © ® ©, O



E]_O
ol T i
= ];
A olu st
65
s St =
=9 5




6.

WA 4047t Qe SR el 4 g Ao e
m U 58 BT B0, gL ] st e
m,

A Apgate] Alow Lehl AL ol A7

ik oy

%ol 9

O m=40-4xa @ a=4xm-40
@O m=40+4xa @ a=4xm+40

G m=4x%a—-40



drEastl @, g2

A E AFESte] Ao ek

Wr

S5
m H
H,

O m=3xa
® m=3x4a-30

G m=30XaA

30747} U4 olol 3 4 P14 2 el
9 ™

@ m=30-3x4a

@ m=30+3xa



A" HEe] 20% &
Haszz vebd 219
% g 3 AL

_Z'\_
U

Rolx, thriy
o} o] A% 400g




9.

AT 0] B T L.

36:27=(36+9): (27+@)=4:0

D 10

@ 11 ® 12 @ 27

® 81




10. o] Folste 127} TE uf, T2 77 sHEYh Fol vHE Fol
sto] 4= gif, SA)o] WHE 2 ]?i,_,] NEE a7t & o, o, A
Aole] FAE Ao vEhl g BE 1249,

DO Aa=0ox5 @ o=a+5 @ o=a<5

@ A=0O-5 B A=0O45



@ m=a+4

@ m=a+4

A X4

Om

G W= 4 =6

@ m= A X6



km



1. 2O 4B GBS M 4YE
oA FRYo] AT 1S 1
Hueh, 24 el A4 Bare] &

B e i



14.

® o=ax8

@ A=n0Ox8

@ aAr=0+21

G oOo=A=8

@ o=ar-21

o






